= F0 7 === H&ERZI=
BeWeARB 2K
G 8: 25
BD= -KKILh-F7E S : 30 ~ S : 50
B 1 R B S : 50 ~ o : 35
N =& S 135 ~ O 45
£ 2 R & O : 45 ~ 10 :30
R K & 10: 30 ~ 10:45
£ 3 K B 10:45 ~ 11 :30
O 11 : 30 ~ 11 :40
£ 4 BB 11 : 40 ~ 12:25
R 12 25 ~ 1 : 00
WHN'E 1 : 00 ~ 1 :05
= % 1:05 ~ 1:20 |[1:05 ~ 1:10
B O = 1:20 ~ 1:35 [#HOHDs 1:10 ~ 15
B K H 1:356 ~ 1:50 [1:15 ~ 1:30
£ 5 KR B 1:50 ~ 2:35 [1:30 ~ 2:15
K = 2:35 ~ 2:45 |2:15 ~ 2:25
£ 6 R 2:45 ~ 3:30 |2:25 ~ 3:10
rRHDODDA 3:30 ~ 3:40 |3:10 ~ 3:20
w R 3:40

OS5EFRIRE DB IE, TREZIIIFIR205457 CKEER IXF12285209) ISRV E T,
Q@ 6EF IR E DB X, TREFZIIIFIE 305400 CKEEB IXF1E3F20) kY £ T,

OLENDARRII BEARKTHYERITEFILYEETSIUNHYETS,

ZDRIX, RBOERELYREFELIYTEMSELET,




